KIT S(2) CAMERA (OPOS-CAM)

KIT-2038

Descrizione
completa:

KIT S(2) CAMERA (OPOS-CAM)

Pezzi presenti all'interno del kit (vedi immagine) :

PART AMOUNT PICTURE
Nut M2 DIN934 2 @
Spacer 2.2x4x8

Screw M2x20 2 g ® 3

www.3essestore.it

Pagina 1 di



PART AMOUNT PICTURE
Nut M2 DIN934 2 é !g
Spacer 2.2x4x8 2
Screw M2x20 2 D R
Camera + Lens 1

www.3essestore.it

Pagina 2 di 2



	KIT S(2) CAMERA (OPOS-CAM)
	KIT-2038

	KIT S(2) CAMERA (OPOS-CAM)

